
MATH 142A: Introduction to Analysis

www.math.ucsd.edu/~ynemish/teaching/142a

Week 2:

homework 2 (due Friday, January 22)

Quiz 2 on Wednesday, January 20 (lectures 3-5)

Today: Limit theorems for sequences  
> Q&A: January 20

Next: Ross § 10
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Inequalifies
• Bernoulli 's inequality ( L1 ) :
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• Triangle inequatity ( L2 ) :
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imits and inequalities
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Divergence to to

Lost time : dis: În = ±: n = ?
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Divergence to to and arithmetic opérations

Th Let (Sn) be a séquence
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,
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Divergence to to and arithmetic opérations
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Important exemples
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